PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO./ARTICLE NO./ARTICULONO: P293240
DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: Leg Table/ Patte de table/ Pata de mesa

:

x1 Dining Table Top x2 Leaf x4 Table Leg sk
x1 Dessus de table x2 Rallonge x4 Patte de table
x1 Tablero de mesa de comedor x2 Extension x4 Pata de mesa

® ® O

x8 @5/16"*12 Nut 3k x8 Lock washer @5/16"*@12%3mm K x8 Flat Washer @5/16"x19x2mm K x1 12mm Open Wrench 3K
x8 ©5/16"*12 Ecrou x8 Rondelle de blocage @5/16"*@12*3mm x8 Rondelle plate @5/16"x19x2mm x1 12mm CI¢ a fourche
x8 ©5/16"*12 Tuerca x8 Arandela de Seguridad @5/16"*@12*3mm x8 Arandela plana 35/16"x19x2mm x1 12mm Llave de boca
*Replaceable Part
Page 1 of 3 Residential Use Only Made in VietNam/ Fabriqué au VietNam/ Hecho en VietNam

For assembly instruction video, please go to: WWW.myfumitureinstructions.com



ASSEMBLY INSTRUCTIONS/ NOTICE DE MONTAGE/ INSTRUCCIONES DE MONTAJE
ITEM NO.J/ARTICLE NO./ARTICULONO: P293240
DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: Leg Table/ Patte de table/ Pata de mesa

%

= &
Yo sep2 | (S5 — o
Etape 2
Paso 2 Locked Unlocked
FERME A CLEF Ouvrir
Bloqueado Desbloqueado
Unlocked hoowom\ ‘
Ouvrir FERME A CLEF
Desbloqueado Bloqueado
Complete @
Terminé %
Terminado
*Replaceable Part
Page2 of3 Residential Use Only Made in VictNam/ Fabriqué au VietNam/ Hecho en VietNam

For assembly instruction video, please go to: WWW.myfumitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO.J/ARTICLE NO./ARTICULONO: P293240

DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: Leg Table/ Patte de table/ Pata de mesa

RP293240 LEG
x4 Table Leg

x4 Patte de table

x4 Pata de mesa

@

o
)

RP293240-HWKIT 3 RC-WH-NAIL 3k

x1 Hardware Kit x4 Plastic Nail
x1 Liste des piéces de quincaillerie x4 Clou
x1 Lista de materiales x4 Clavo

*Replaceable Part

Page 3 of 3 Residential Use Only Made in VietNam/ Fabriqué au VietNam/ Hecho en VietNam

For assembly instruction video, please go to: WWW.myfumitureinstructions.com



